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A LEVEL BUSINESS

Answer all the questions in the spaces provided.

Flavors Ltd makes fruit-flavoured drinks. Each year Mark Hoskins, the company
t are given in the

1.
accountant, constructs a budget. Details of part of last year's budge
table below as well as the figures for the actual outcomes.

Budgeted Actual Variance

Sales Revenue £240 000 | £265 000 (i)
£98 000 £72 000 (i)

Cost of Sales

e

Calculate the values of the variances stating whether the variances are advers
or favourable and in each case explain one possible reason for the variance. \/ﬁ]
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2. Top Dog Ltd manufactures garments for dogs.% 5{ g NS i

The company’s sales revenue for the last eight years is given in the table below.

Year 2007 2008 2009 2010 2011 2012 2013 2014

Sales
revenue | £48 000 | £52 000 | £50 000 | £57 000 | £64 000 | £65 000 | £72 000 | £73 000

-60;000 53,000 57, 000| £2, 000 | £F,000| 7 0,000
- g " Vi o

" 174 4 V 4

(a) Calculate a three-year moving average of the company’s sales

revenue, writing your answers in the spaces in the table above. [3]
(b) Plot your results on the graph below and draw in a line of best fit. [2]
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(c) Use the line of best fit to predict the sales revenue for 2015. [1]
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Assess the usefulness of this prediction to the company. [6]
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3. C.G. Harris Ltd makes components for the car industry. This year (2015) the
company made a gross profit of £86 240 on sales of £720 000: its expenses were
£74 120. The company’s balance sheet recorded a bank loan of £140 000 and
shareholders’ capital of £60 000.

For the previous year (2014) Jack Lloyd, the company accountant, worked out the
following four financial ratios:

Gross profit margin = 15.6% (on sales of £700 000)

Net profit margin = 4.2%

Return on capital employed (ROCE) = 9.4%

Gearing = 50%

Using ratio analysis, calculate the four financial ratios for 2015. Analyse and evaluate
the financial performance of the business over these two years. [14]
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4. Jane Lancaster is the Managing Director of JHL (Printing) Ltd which specialises in

A LEVEL BUSINESS

printing educational books. At the moment she is considering purchasing a new
_printing press that would cost the business £70 000 and a new binding machine that
would cost £34 000. The printing press would replace the jobs of two operatives but
the new binding machine would not cause any job losses; however, the person who
operates it would require training.

-

The existing printing presses produce work of high quality and are fairly reliable but
the existing binding machine sometimes misses stitches and is prone to break down.

The following table represents the return that Jane expects the new machines to

bring to the business over the next five years. CC(\:
oP BM
Printing Press Binding Machine o
Net Cash Flow Net Cash Flow X : i :
Year 1 £15 000 £11 000 %4000) (78%(00:})
Year 2 £20 000 £14 000 (%9, OOQ) LZ% : OBCE
ear (25000 7 ( QOC0
Year 3 £30 000 £18 000 . q ({0600
(5 c 00 {
Year 4 £30 000 £22 000 226 OO0 DG
Year 5 £45 000 £20 000 o000 51000
In order to calculate the return on her investments Jane uses a discount rate of 5%
as shown in the table below.
(6 SR - -0 B
Year | Discount rate of 5% 14250 10436
p 0.95 1 20C0 ‘2'600
- 25300 15430
2 0.90 2 4,00 18040
3 0.86 3510 I1SE00
4 0.82 WtHod
5 0.78 =5 =§23550
(i) Calculate the payback period for both machines in years and months. [2]

9,000 . .=
(13.000712)
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(ii) Calculate the Average Rate of Return (ARR) for both machines. [4]

(iii) Calculate the Net Present Value (NPV) for both machines. / [6]
RARRIOG PILOS = RULLOLT. Lo .'\.\.‘. 300 7 T&CCO
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(iv)  On the basis of your calculations advise Jane as to which machine to buy. [4]
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(v) Analyse the qualitative factors that Jane Should take into account before s
making her final decision. :

i
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5. Itis no exaggeration to say that if you were to go into any house in Britain you would

find products produced by Unilever plc. But it's pot just in Britain that the company’s
brands are sold. On any given day 2 billion consumers worldwide use a Unilever
product. Unilever has over 14 products with annual sales of over €1 billion including

Magnum ice cream. The company’s brands include the following:

Bovril, Bertolli, Radox, Stork, Peperami, | can’t believe it's not Butter!, Carte D'Or,
Dove, Domestos, Lipton, Wall's, Pot Noodle, BRUT, Cif, Sure, Simple, Comfort,
Viennetta, Cornetto, SlimFast, Pond’s, Colman’s, Persil, VO5, Maille, Impulse, Ben &
Jerry’s, Vaseline, Flora, TRESemme, Lynx, Marmite, Timotei, Brylcreem, Elmiea, PG
Tips, Hellmann’s, Lyons, Knorr and Surf.

Unilever plc employs over 173 000 people and operates in 190 countries. Its annual
sales in 2012 totalled over £40 billion. The table below shows where thesales took

place and the sales growth in each market.

Market Turnover | Sales Growth
Europe £11 bn 0.8%
The Americas £14 bn 7.9%
The rest of the world £16 bn 10.6%

Unilever plc’s vision or purpose is to make sustainable living commonplace. It says:

“We work to create a better future every day, with brands and

services that help people feel good, look good and get more out of

life.

Ouir first priority is to our consumers — then customers, employees,
CRRO IS RIS suppliers and communities. When we fulfil our responsibilities to
lojzﬁz them, we believe that our shareholders will be rewarded”.
=} 7% EOGOMINQL

Source: www.unilever.co.uk

(a) Explain why brands are essential to the success of Unilever plc. [6]
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(b) What is the Ansoff matrix and how might it be usefjto Unilever plc in
achieving sales growth? [8]
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